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ROMNCEZ K. (SH40F, A1y, Bk17320%, C#247)

(1) {ﬁ*ﬂ(lﬁ@ﬁé‘ 12km /IRf
M DOME  3km /R
ZDLE, EFholIZRD K.

3) {Lb@ﬁﬁs 30km /FRf
MNDHES Sk /HKf

ZDEE, HKNOES 2K K.

5) {Lb@ﬁé 3m/
THho#Z  7Tm/F

ZDLE, HkKFOES 2K XK.
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(2) {%%‘7J<H%}O)ﬁéf 240m /47
WMNDOHEE  60m/77
ZOLE, TholIZRD X.

0 {%%M%?@i@és 400m /4>
THoO®EZ  500m/57
COLE MNDOEIZRD XK.

©) LYo 80m/m
Tho#®E  120m/5r
COLE MNDOMIZRD K.
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2.

ROMNCEZ K. (SH40F, A1y, Bk17520%, C#247)

(1) FOKIFOM S 15km /I
MNDMS  3km /IR
ZDEE, LhOEIZRD K.

(3) THOME  45km /IR
MDD Sk /I

CDEE, HKIFOEI ZRKD L.

5) {Lb@@éﬁ 3.6m/
THo®EE  7.2m/M

ZDEE, HKOES 2K K.
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(2) {%%M%@Eéﬂ 320m /%y
MNDOHRE  80m /57
ZOLE, TholIZRD X.

(1) KIS 300m/ 7>
Ebho#x  240m/5y
ZDOLEE, MNDOEIZRD XL,

©) {J:b DM T5m/ 57
THo#Z  175m/%
ZDEE, MNDOEIZRD K.
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1. ROMICEZX. (SH40F, A1y, B#147208, C #2475 )

" i,

: -
ok : * HBKE =
Ty Sy

(1) FKIRFOM S 12km /I
MO 3km /I
ZDEE, Fho#IZRD K.
* D IIHNOES 2L 5B

12-3=9km/B§ -&ZX

3) { EYo#EZ 30km/Kf
MNDOME  5km /I
ZDOLE, FKRFOMS %KD XK.

30+5=35km/B X

5) {Lb@ﬁéf 3m/
THo#Z  7m/F
ZDLEE, HKFOMI &Rk XK.

B+7+2=5m/# &EZX

* FKEDES = £ED EThDFF

(EDh EThomo¥sy)

S DIRDE
P FHBILE-7S, BIDRAR 25 2 ).

2) FRKIRFOMS  240m/47
MNDORE  60m/77
ZDLE, THDOHEIZRD L.

* [ DIIRNOES T HS %2 B

240 4+ 60 = 300 m/4 BZX

) {%%ﬂ(ﬁ%@iﬂ_iéf 400m /4y
THoME  500m/457
ZDLE, MNDOHEIZRD K.

500 — 400 = 100 m/4% -&Z

©) Ebho#x  80m/7
THo®Z  120m/7
ZDEE, MNDOEIZRD K.

(120 — 80) +2 =20 m/4 -&Z

* NDES = EDETHDEDES
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2.

ROMNCEZ K. (SH40F, A1y, Bk17520%, C#247)

(1) FOKIFOM S 15km /I
MNDMS  3km /IR

ZDLE, LY)oEIZRD K.

* LD RS IZITES 8B

15-3=12km/lF -&ZX

(3) {Tb@iiéf 45km /IRf
MNDOME 5k /IRF

ZDEE, FKRDOEI ZRD L.

45 -5 =40 km/B§ BZ

5) {Lbo)i%éf 3.6m/
Tho®ws 72m/#

ZDOLE, FKIROMI %2R XK.

(3.64+72) ~2=5.4m/#
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(2) {%%M%@Eéﬂ 320m /43
MNDOHRE  80m /57
ZOLE, TholIZRD X.

* O IRNDOES 7ZITHS 2B

320 + 80 = 400 m/5 -BZX

0 {%%M%W)iﬁ_iéf 300m /4y
EYo#E  240m/57
ZDLE, MNDOMEIZRD K.

300 — 240 = 60 m/% BZ

) EYo#EZ  75m/%
THoOME  175m/457
ZDLE, MNDHEIZRD K.

%
NI

(175 — 75) +2 =50 m/43
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